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Z.Using ti.} Tollowing data to compute - (
(b) Total working capital infjow

Net income reported (Accrual basis)
Depreciation expense $§7,000
In—crease in 'wages-payable $1,500
In-crease in trade accounts

Receivable

$2,000
De-crease in inventory
Amortization of patent

$3,000
$300

De~crease in long-term liabilities

$15%,000

Sales of capital stock

$30,000

Amortization of discount on band

payable $200

for cash

Total cash inflow from operations
Tétal warking capital imflow from

operatcons
Note: Revenues $190,000
Expenses $140,000

Cash
Accounts Receivahle

' Allowance for bad: debt
Per-paid insurance
Inventory
Land

Building d Eguipment
Accumulated depreciation
Accounts payakle
Interest payable

Advance from customers
Capj tal stock

Retained earnings

Sales

Pur-chase

Salaries

Insurance expense
Depre-ctiation expense
Interest revenue
Interest expense: -~ .., -
Purchese return.d.dllowan
Trans-port-ation’ in
Cost of. goods ®old

Bad debt

Reguired :

ce

W.The unadjusted trial balance and adjuste
of 8ttoo corporation at the close of busin

a) Tetal cash inflow from pperations
from operations.,

Cash basis
$50,000

— s>

Tri'al

un-adjusted
Trial balance
1986,12,31
- 20,000
" 60,000
. 3,200
800
8,000
50,000
80,000
15,000
13,000
5,500
160,000
14,400
320,000
300,000
12,0800
2,000
2,500
1,100
900
600 '
—_———
534,500 534,500

1 Make adjusting and closing entries

2 Prepare income statement

3 Prepare balance statement

dabalance below was taken from the ledger
ess for the year 1986

Working Capital Basis
" $50,000

-

.- adjusted
trial balance
1986.12,31

20,000
60,000

5,800
550
15,000
50,000

80,000 R

17,000

13,000

400

2,000

160,000

14,400

323,500
12,000
2,250

2,000 : .

: 2,500
1,500
292,700

—=24,600
538,600 538,600
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